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QUESTION 1

You have configured storm control on your network devices. Your network has grown and you no longer have time to
investigate each occurrence of a storm control violation. You want to enable a port to automatically be re-enabled after a
storm violation. In this scenario, which Junos OS configuration timeout would accomplish this task? 

A. Configure the secure access port timeout. 

B. Configure the port error disable timeout. 

C. Configure the BPDU blocking timeout. 

D. Configure the MAG aging table timeout. 

Correct Answer: B 

 

QUESTION 2

You are configuring IS-IS on the newly provisioned ae88 interface. After you commit the configuration, you notice that
your adjacency is not showing up. 

Referring to the exhibit, what is the reason for the adjacency being down? 

A. R1 and R2 are configured for different metrics. 

B. R1 and R2 are in different IS-IS levels. 
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C. R1 and R2 have different interface parameters. 

D. R1 and R2 are configured for different areas. 

Correct Answer: C 

 

QUESTION 3

You are running a Virtual Chassis with nonstop routing enabled. You want to confirm that the BGP routing table
synchronization has completed on the backup Routing Engine. 

Which command will show you this information? 

A. show task replication 

B. show bgp summary 

C. show bgp neighbor 

D. show bgp replication 

Correct Answer: D 

 

QUESTION 4

Which statement is true about IP-IP tunnels? 

A. The time-to-live value of the original packet Is decremented. 

B. IP-IP tunnels are protocol agnostic. 

C. The packet is encapsulated unchanged before entering the tunnel 

D. The packet header is replaced before entering the tunnel 

Correct Answer: C 

 

QUESTION 5

Which OSPF area type receives only the default route from the backbone? 

A. transmit area 

B. totally stubby area 

C. not so stubby area 

D. stub area 

Correct Answer: C 
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